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W 0 B 84 84 (42 / 42 )
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P N fi] (L1 7 87 87 (44 / 43 )
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Eh  HEFE fit] 1 L1 7 89 89 (44 / 45 )

AT HX fi] (L1 77 89 89 (41 / 48 )

88 e &R ARt 90 90 (48 / 42 )
WA FhE fi] (L1 7 90 90 (46 / 44 )

HE M= At 90 90 ( 45 / 45 )
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HE R A 91 91  ( 48 / 43 )
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S R At 91 91 (47 / 44 )

SR V=% il 91 91 (46 / 45 )

GGG V=% il 91 91  ( 46 / 45 )

% 2AH F IR 91 91 (43 / 48 )

e 5LEA L FERT 91 91 (43 / 48 )

101 S AN fi] (L1 77 92 92 (50 / 42 )
B o i 92 92 (49 / 43 )

A #] V=5 4l 92 92 (47 / 45 )

RIR 5F B 92 92 (46 / 46 )
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107 K SRR V=% il 93 93 (49 / 44 )
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BRI —hk T 94 94 ( 43 / 51 )
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W FIH] MRt 95 95 (51 / 44 )
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wa B =5 95 9% (45 / 50 )

AR IFE etk 95 95 (45 / 50 )
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TJH ERA fo] (L1 7 96 9% ( 46 / 50 )
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I S At 97 97 (50 / 47 )

b FECHT 97 97 (48 / 49 )

[TV S V=% il 97 97 (47 / 50 )

136 T iER i 1 L1 98 98 ( 53 / 45 )

kIR A 98 98 (51 / 47 )

KRG 13 V=% il 98 98 ( 46 / 52 )

139 7K H & AT T 99 99 (50 / 49 )

RCH HER] V=% il 99 99  ( 48 / 51 )

141 B KR Sl 100 100 ( 55 / 45 )
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